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A o | ahesk
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answers in theirr own words as far

gac as practicable.
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5. This uestion pooklet 15 divided into

oo sections Section-A arnel

Section-B.

6. In Section-A, there are 80 objective

type -questions; out of which any
40 guestions are to be answered.

Each question carries 1 mark. If a

candidate = answers  moré than
40 questions, then answers of first
40 quest_ions will be evaluated only.
For answering ‘these darken the circle
with blue / black ball pen against

the correct option on OMR Answer

S-1 |-

17003-(66/70)

Page 2/48

by:BSEBResult.In



[112]

mzﬂ?‘ / @ qerel / sy / T Sheet provided to you. Do not use

: whlitcner / liquid / blade / nail etc.
1T BT OMR IAT-U5% ¥ gahT wyay

. on OMR Answer Sheet; otherwise
gar & AW Rer whvmw s
the result will be treated {nvalid.

gl

. GuE-§ g 24 g gvig uyT &) g 7 In Section-B, there are 24 short

answer e questions. Outl of these,
8 W Wifiw e &, 8 Wy @A | bl /

eight questions are from Physics,

W & U9 8 Wy Wlg faaT & &)

~ eight guestions' are from Chemistry -
A% v (wifaw s, W e o) |

: and eight questions are from Biology.
ve dia fAm) § AT

Four guestions are to be answered

I A 8 IRF & forw 2 o Fuifa frc;m each  subject  (Physics,

¥ 7% offiw 3% @vg ¥ 6 @  Chemistry and Biology). Each

'] . ! b
: : estion carries 2 marks. Apart from
s T R & frd @ guwy DSOS parie

these, there are 6 Long Answer type
wif7® v &, 2 99T 79T IR & -

. questions in which two questions each
@ 2 w7 Wla G & & s | :
: ! from  Physics, Chemistry and

8] |- 17063-(&5;7&1 Page 3/48
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8. iFdl TER & golwiw I FoE

ST qotera e &1

(112
Blology are there. Long Answer lype

questions  from Physics  ©OImes

tisenof’ any electronic appliances is

strictly prohibited.
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WUE - F [/ BECTION - A
e wew Objective Type Questions

w1 6T 18 80TF TXFr wvr §1 gf @t fosedf 40wt 77 37 S 1 7 g

& W T BT v § ford @ v wgt 1 ot g g 0w e x5
Oﬂpﬁzﬂ?ﬁ'@ﬁ?ﬂﬁf

40 - 1 = 45

Question Nos. 110 80 are of objective type. Answer any 40 questions. Each questin. i

AL
four aptian,_s out of which only one is correct. You have to mark your selected option o
the OMR sheet.

40 r =45

| T H Yo wey See &
@ ¥
) & | D) FTEI=ETE
Water soluble bases are called
(A)  Acid (B)
(C) | Salt (D)  None of these
2. e U I (WS G § |

(A)  caco, | B) Na,CO,

(C)  Ca(HCO,), (D) NaHCO,

S-1 | —| 17003-66/70)
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[ 112
The chemical formula of soda nsh s
(A} CaCO, (B)  Na,CO,
(C)  Ca(HCO,), (D)  NaHCO,
3. frifea & o% R dfem @
() B K i R
(€ HR (o) @fga
Which of the following is a heterogeneous compound ?
(A) Limestone ' (B)  Plaster of Paris
(C) Marble - (D) Chalk
4, ifeh HieT I THAH T &
[ - CcacO, | (B) .Na,CO,.10H,0
(©) | Ca(OH), (D) NaHCO,
The chemical formula of Baking soda is
(A) CaCO, 3 (B) Na,CO,.10H,0
(C) Ca(OH), . (D) NaHCO,
é-[ —| 17003-66/70) Page 6/48
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\ Lpaailat N gy Rl et )
Wl aug el o
W Ul apg M & & wd ad
Which of the fullowing is o cotrosive acid ?
W Methanoie aeid (3)  Sulphuric acid
) Ethanoie acid (D)  Nonec of these
o ek 3w e @ pl A R Y
A 4 B),=3
€ 7 (D) 105
The pH value of milk of magnesia is
A 4 | B) 3 |
© 7 (D) 105
7. WER % A A ol @ den ¥
@A 2 (B) 4
< 7 D) 6
S-1 | =] 17003-6/70) Page 7/48
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[ 119
The number of electrons in the valance shell of sulphur is
A 2 B) 4
s 7 (D) 6
Frferfaa il o Rt 3T St aifysrem & 2
a) Cl ® F
(€ 1 (D) Br
Which of the following elements has maximum jonization energy ?
a) cl 2 Ce’ F
€ 1 D) Br
ﬁmﬁﬁaaﬁaﬁa—mmm (W) & SR BT & 2
A J/s (B) J/sec?
& e _ , D) J2s2

Which one of the following units is equal to watt ?

A  J/s | (B) J/sec?
@ Jlst 1
S-1 |—| 17003-(66/70) | . ; Page 8/48
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0. R AT F TR Y dreeht e ek 2
(A) T (B) T @l
C) TTRA® (D) AL 5
The coil of the electric heater wire is made up of
(A)  Copper : (B) Zinc
(C)  Tungsten D) Nichrome .
1. iﬁwﬁquwaawsﬂfaqam&aﬁmﬁamaﬁ%, 3
@ Ry . (B) ¢, W

© Tavair D) e

The property of a circuit that converts electrical energy into heat is.
(A)  resistance (B) current

(C)  potential difference (D) power

12. wﬁ@ﬁaﬁwwwwwﬁﬁ%ﬁaﬁmwmﬂm%

@ e a6 w1 X S B) o o aw AW
© foree ST o QA A O AR
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The potentinl difecence acrosy an electrie o
(A more than em/’ (1)

() double the emf (D)

13. &?‘&ﬁmﬁy e @ 6 R
‘_LAJ"J_"-% (B)
© % (D)
Non-renewable source of energy is
(A)  Coal (B]
(C) Water (D)
14. ﬁvﬁwaﬁﬂmﬂ‘lﬁ e ferar e &
@ e o )
(€ HRR/Fo H | (D)

Wavelength is commonly expressed in

[ 1)

1l upon drawing current become,

less than emf

none of these

wind
Sun

oot o

-,

7 3 i

(A) metre (B} hertz
(C) metre/sec (D) none of these
S-1 |—| 17003-6/70) Page 10/48
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16.

_ [112]
ferelt <IETeh TR ¥ Wenlea P vt o wiferefler vl @ier 2

B) W

W -
igf/iﬁﬁﬁm | (D) A B3 R

When an electric current flows through a conductor the moving particles are

(A)  Neutrons : (B) Protons

(C)  Electrons (D) None of these

12 v forsmier % @ fagall & o 2 el T A AW F e B9 fa
ST ¥ 2

@ 25 B 6
© 125 (D) 24

How much work is done in moving 2 coulombs of charge between two points of

12 V potential difference ?
(A} 2joule (B 6joule’
(C) 12 joule ' (D) 24 joule
-1 | -[17003-6r70)| Page 11/48
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17. W A HA AERTET spim et g o g A

(A T (B) ™

(€) "X (D) A

Which plant did Mendel use for his genetic experiment ?

(A)  Rose (B) Mango
(C)  Pea (D) Potato
18. To¥ YR & % ¥ A et o widt & 2
(4) FEEE (@ awrt
© @IR@IEF D) G a T
Which type of respiration releasés more energy ?
[Aj Aerobic (B) Anaerc;bic
(C) Both (A) and (B) - (D) Nnné of these
19. HHE H TR S U S §
&)  F B)  fgEor
(C) TPRE | Ua( LIEEEE] HfcTer
S-I | = 17003-(66/70) Page 12/48
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[112]
Male genital gland in human s called
(4 Testia (B)  Epididymis
(C)  Seminal vesicles (D) Sperm duct
20,‘ e Th et fasivar &
&) S afy ® s
(© | (D) T4
An important cha:actcﬁsﬁc'of life is |
(A)  Movement of molecule (B) . Growth
(C)  Organisation (D)  Coordination
21, @O QORI
() oA -‘ﬂ/ o o
; © ;m‘gm T ma;ﬁqiqgﬁ (D) (Ai 3R (C) I
S | - [ 17003-6/70) Page 13/48
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Autetrophic nutrition occurs in

(A) Plant (B) Fung!

a) and (€
(C)  Some protista and prokarvotes (D) Both (A

22, TOREICEIGY BT @

e iR @ A
(C) T Feeied | ()" FARTAE

Gljrcolysis occurs
(A)  Mitochondria | | _ (B) - Cytoplasm
(€) | Golgi complex (D)  Chloroplast
23. Hﬁaﬁﬁﬁﬁmﬁmwmﬁwm%
w/ W | | B SFRE

(€) WA (D) 9RSH

S-1 | —| 17003-(66/70)
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24.

25.

(112 ]

structuial nne fug tenal it nf nervous ¢ yatemn is ¢ alled

N
(A ruron (B} Dendrite

(C)  Nephron (D) Cyton

V- R TSARR 2y S i) & 7

() B) e
© &= (D) A
Which enzyme acts on fat ?

(A) Amylase (8} " Trypsin

(©) Pe?sin (D) Lipase

0 g7 ol ey v S S 2 |
(A) mmﬁm,amamasr [B)/ A g
(€) WTedr, Seel aur gl (D) ‘q’tﬁh‘q«”mﬂm?ﬂa
What is the image of.a1n object formed by the eye ?

(A)  Real, inverted and enlarged [B} Virtual, erect and diminished

(C)  Virtual, inverted and enlarged (D) Real, inverted and diminished

S-1 | —| 17003-66/70) | Page 15/48
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E it @1 Y2

) A F fau 30
aeeHiel
el

20 A ufewe 1Y fawpe A

(B)

@A) e

€ aeeHR )

n an electric circuit ?

i i
What is used to measure the current

(A)  Galvanometer (B) -Voltmcter
(C)  Voltameter (D) Ammeter
7. oo s g i ) P T
W @ VR
© I°R D) . R

Which of the following does not represent electrip power 7

Ay I B) V°IR

(C) I’R D) IR?

28. ﬁﬁﬁﬁﬁwaﬁﬂwﬁmnﬁﬁﬁﬁﬂw%?

~
(A) $Tﬂ' Coi ‘TTE?FT ' /{-B]’ I
) e T (D) ¥ ¥ HI3 T
S-1 | = [ 17003-6/70) Page 16/4
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Which onc of the following can form a real image of an object ?

(A} Glass slab (B)  Convex lens

(C)  Concave lens (D)  None of these

20. Towht forg-aeq A Frarcrne foeol Pl o @ o e v g e e ¥,
3 Fed &

4
(& T & ' (B) WidleH fag
€ BEE D) VERAHS

The point, at which the rays“toming out from a point-object after refraction

through a lens meet is called
(A)  Centre of curvature : (B) Image pomt

(C) Focus (D)  Optical centre

30. IWTE! T 1 AEYIE B &

. -~
(A) e FUOT - HTTH T
() I | D) I gu
S-1 |- 17003-[5@;10;. ' Page 17/48
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o - q
The l?l"_lf‘l"!"“l"‘ Iens of 'FTII“'”E"RPI'“' camrra !

Concave sl
{A} Concave mirror (B)

anvﬂ m]rfol'

(C) Convex lens (D) %

ﬁﬁm'mﬁﬁ'n
a1 Fawﬂmas’rﬁﬁmanzaﬁéamﬁaﬂﬁﬁmmﬁﬁ

# ?

(A) 50 cm FIF 30 F1 T FEAA 7F
@/ 50 cm WY g HI TF I A
(C) écmmﬁmwmﬁa
(D) 5 cm $IHF g @Y 30t 9

Which one of the following lenses would you prefer to use while reading sma

letters found in a dictionary ?

(A) A concave lens c_)f focal length 50 cm
(B] A convex lens of focal length 50 cm
(C) A concave lens of focal length § cm

(D} A convex lens of focal length 5 cm

S-I |- | 17003-s6/70)
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112 ]

frelt Tl 20 qon Reell wee el o 2 9 B gfrai - 15 cm & | &0

32.
g | ¢
W T 37, S Fae @) R0 3T, @9 e
© I EEw (D) A Iaw
A spherical mirror and a thin spherical lens have a focal length of - 15 cm cach.
The mirror and the lens are likely to be
(A)  Concave mirror, convex lens {E} Convex mirror, concave lens
(C) Both concave | (D) Both conyex
33, W TR R/ e g
o \*) B R
© TR : (D) TRRERH
The hormone secreted from the .c:nrpus luteum is
(A) Androgen - | | (B) | Progesterone
(C) Estrogen (D)  Testosterone
34. iR o 3 I A &
@) T o LB/ R
© 9 | " o)
51|-[17003-€sm9] Page 19/48
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36.

The source of energy in the ccosystem i8

(A} Rainwater (B)
(€)  Air (D)
WIS T 3] W R

(A)  9RE (B)
(C)  3pwiE (D)
The ﬁlace of origin of humans is

(&) India (B)
(C)  Africa (D)

e & i A o g A E 2

() 3 R | (B)
© TwE E | (D)

[

Sunlight

Soil

China
America

o

®) 3R (¢) AT

Which of the following is a sexually transmitted disease ?

(A)  Typhoid . (B)

(C) AIDS ' ' (D)

Gonorrhoea

Both (B) and (C)

S-1 | | 17003-(ss/70) |

Page 20
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s T F R K )

y TR |
\ (B)  NWIARER

1;, ¥ a’i?ﬂ T ANEHER

(D) T Q& IR

The shape of human kidney is

—
(A pherical (B)  Rectangular

(C)  Bean shaped (D)  None of these
sg,  EOREE H R A WRIRE i @ wwo

& TR (B}, CTRH

©) ﬂmﬁ*’ﬁq | /LB‘r (&) 3R I[B] gt

Change in body in adolescence is due to
(A}  Testosterone ‘ (B)) Estrogen

(C) Thyroxine " (D) both (A) and (B)

39. aﬁwﬁuaaarﬁaaﬁ:aﬁaﬁ%

&) TEummEn (B) | TEARH
© g (D) T ¥ HE T
S-1 | =1 17003-(66/70) Page 21/48
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40.

41.

The period of sexual maturity 38 called

puberty
(A) Adolescence (B)
f these
(C) Growth (D ) Noae @ |
3T W 1 g e s GR1 B € 7
dgerarl

(A} wEEg (B)

?/ CFC - | o) fed

LS

What is the main cause of depletion of ozone 1a%€1,?

(A) Poiluti@n | | iB) .Ifesticides |
€ CrC : (D) Methane
AR (v) RER Bl %. |

A c/g | (B) J/C

Q) J/a ' | 451/ A

Volt (V) is equal to
2 B J/c

G JA D A

S-1 | = | 17003-s6/70)
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42.

43.

(A)  joule = volt x ampere . (B)

©) joule=3TFES (D)
44, ‘-c-Hq aﬁi‘ﬁqﬁﬂawaﬁﬁﬁ%

) FREE ®

©) mrs%m I (D)

ferea ST & Welg 3T @) e ¥

@/ T T ®)

© fomER D)

The rate of flow of electric charge is called

(A)  Electric current (B)

(C)  Potential difference . (D)

freiified o BT U T L 2

Mﬁ S — -
ofiEr

R - Il D

€ aiee =

Which of the following statements is true ?

(112]

ferga aeeh =1
@ F Tl

Electromotive force

none of these

ST =TI x Fee

B Lol

joule = coulomb x volt

coulomb

joule = volt

FEIA I

 Ueahleliern §E

S-1 |-
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45,

46.

[

The functional group — CHO is called

oup
(A)  ether group = carbonﬂ !
: u
(C)  aldehydic group & dmh:;j ,; ¥ o
TR A ¥ H,S0, %wﬁmﬁ“ﬁqﬁaﬁ
(A} CH, B
& (D) C,H,

: ol with concentr:
Which of the following gases is formed on heating ethan

H,S0, ?
(A) CH, B CoHy
(C)  C,Hg (D)  CoH,

R wie Freifa & frg ug w1 @ @ 2

Hg (B) Zn

(C) Fe D) Al

Zinc blende is an ore of which of the following metals ?

®) Hg - .
© Fe . @ A
S-1 | —| 17003-s6/70) Page 24/4
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a7, ¥mEd WO & R syad & e N ala o e @ d

(A} AT MR (1) NI e

) ; BRIEC G REEE ) andl e ha

Which property of elements is same in a period of Periodic Table ¢

(A)  Atomic weight : (B)  Atomic volume

{C}  Valence electron (D)  No. of shells
48. HMHIHAT, CaO+H,0—Ca(OH), & W &} aifvfran @ .

@ e (B ¥

() B W

The reaction, CaO+H,0—Ca(OH), is of which type ?

(A) Dissociation (B) Combination

(C) Addition | (D)  Substitution
49, WA @1 o G &

&) O, © & | 0y

© 0y D) Og

S-1 | -{ 17003-(6/70) Page 25/48
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The molecular formula of ozone is

BYSEY B O3

4

{C) U'} (D) 05
P 1 131 7 gy e e T € 7

A} 2 B 7

)91/13 D) 6

Which value of pH represents alkaline solut_ion ?

Ay 2 BI=, W7

(C) 13 L ' (D) 6
m%wmﬁmw'ﬁmasmﬁaﬁﬁmw S FTE 2
(A) 1 | : . I{B} 2:1

) 3:1 ' o) 1: 2.

What is the ratio of number of atoms of hydmgén and oxygen in a molecule

water ?
(A) 1:1 (B) 2 o4
€ 3:1 (D) 1:2

S-1 |- [17003-s6/70 - e
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52, T wE R oF® Tl § - Ut ?
(Al 13 A B) ?; B
(C) Igc D) 130
Which one is a metal in the elements represented by the following symbols ?
WA R
© ‘iC @) 'p

53, 3T TS % faeraT #1 pH O w1 a2
A 12 )3( 7
) 8 -) D) 4
What would be the pH value of the solution of an acidic oxide ?
(A) 12 B) 7
c) 8 D) 4

‘54, Had R WHlaw T § |
@A) IR | . i
€ @ : (D)  igen
S-1 | —| 17003-(s6/70) Page 27/48
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56.

The hardest natural substance is

(A)  Silver @ I

(©)  Diamond o Co¥
foeR amiters @t W AA ¥ 2

o @ @

[(f.] e : o &
What s the colour of silver iodide ?

(A)  White @y Yellow
(C) Red | (D) Green-
Wmmﬁmﬁﬁéﬁm%? ‘ |
&) 9 | ;g/ E2 ]
(€) TEeH B O T

Respiration is which type of chemical reaction ?

(A)  Oxidation (B)  Exothermic
(C) Combination (D)  Reduction
r S-1 | —| 17003-(ss/70) I Page 28/
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57. A AN & Wi st o et ) Tirgm &
A) 2 19( 8
€ 18 D) 32
The number of elements in the first period of Periodic Tablé i
i = B 8
€ 18 D) 32
s8. [eieitan & e seime 1 awe Freemn w9 amam & 2
(A) M B) _Mmd
€ M2 : @ M3
F;cm which of the following is ‘;hc removal of electron the easiest ?
A) M B) M*
(C) M2+ (D) M3+
59. &A@ Ed | aet & fa S99 9 arag e € 2
(A)  K-¥IA B) LW
© MI| (D) N3
S-1 | —| 17003-(s6/70) Page 29/48

by:BSEBResult.In



Ilh

Jled with clectrony
jetely P &
o comp |

r
An element has two uhelln and hoth &

clement in
Argﬂl‘l
(A)  Neon (B)
godium
(C)  Chlorine (D)

mﬁmmmwwﬁ?

64.
(A) F B O
(C) Br py I
Which of the following i% the most reactive halogen ?
(A) F B Cl
@ B o 1
65, Ot H SA-3 HEl 9 A8 ?
4 A o T
© A . D) W
S-1 | —{17003-66/70) R
Page 32/*
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Wi

AN '!lp e
lnuul'lu:in-r: Orpans f, .
“hs found in plants ?

(A In rom
(B) In flower

() In ntem
(D) In fruit

o nlEe & . '
N m’qmmﬂﬁrﬁﬁﬁmmwwmm%?

A R /m( i

() Wﬁ:ﬁﬁ? (D} T a g4t

Which part of the brain maintains the position and balance of the body ?
(A}  Fore-brain ' © (B) Hind-brain

(C)  Mid-brain (D)  All of these

s, Fo o o oy s e § 2

@A &\ B) @mfgem
(C) AT (D) HR
S-1 | —| 17003-66/70) Page 33/48
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In which plants are stomata absent ?

[112)

(A}  Mango (B)  Hydrilla
(C)  Opuntia (D)  Nerium
68. BS-IV & Ty §
W) TR R (B &k
(C) o SR § (D) v WEET §
BS-IV is associated with
(A)  Soil pollution {B) - ‘Seund pollution
(C)  Air pollution (D) Water pollgtion
69. T H SadIo '&a'I TEH T
womm ® w6
Jgl | S
Carrier of oxygen in blood is
(A)  Fat (B) Hormone
(C) Haemoglobin (D) Carbohydrate
S-1 |—| 17003-(s8/70) Page 34 ';_4;
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IR i SR S S

m
N TR
i <R () it
| TR
18 WRIRA DI LU

Which of the following is known an a birth hormons
! Tyrosine (1) Oxytocln

(€} Thyrotropin (D) Innulin

-1, W% (SEid B Y

&) RIS R/ (3] o SlgREd
. (©) liﬂm- ? g>)/ forts @
The seeds develop from
(A)  Anther o (B) Ovary
(C) | Stamen (D) Ovule
72.  TEUR 9T R
@ TEdmE B) B i
(©), W& _pf SR &
B S-I |- 17003-:55:1&}' Page 35/48
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| 112
Puadanunois a pait ol

(A} Large intestine (m  HSmall {nteatine

(W1 Buecal cavity (N)  Stomach

TR R v w1 oiRRulve dak 2

L7

EUNR 0 ) il

@ iy o) Qi d

Which type of ecosystem is a pond?
(A} Artificial (B) . «Natural
(C)  Abiodc (D)  None of these
73, R @ Tiiefs o W st dem A e ¥ 2
@ RS B
() wiwwEt [5! W

Which of the following are present in maximum fumber in an ecosystem ?

{A)  Producers (B) Herbivores
{C}  Carnivores (D)  Omnivores
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76.

AT T T 5 e
) 'mmmwmﬁ%ﬂﬁwﬁm7

(Al

(C)

C02

93

(B) NO,

(D) ™| §d

[112]

Which ;
of the fﬂnﬂ“'lng was not present on earth before the origin of living

beings ?

@ co,

© o,
e § Seed
(A) 80 Hz
(C) 60Hz

The frequency of alternating current produced in India is

"B NO,

)

egret R ST bl ST &

B)

D)

All'of these

70 Hz

50 Hz

(A) 80 Hz (B) 70Hz
(C) 60 Hz (D) SOHz
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— T oywTRm g v ?
SN @  10°A
: 4
S L o 107'A

One microampere electric current is

USSR (Ve (B) 107°A

1 1075A (D) 10

Tt R Twwn G i fev o d et 2

T G Gy WA

) e (D) Wlw
Narora Nuclear power plant is located in which state ?

(A}  Rajasthan _ (B) Gujamt

(C)  Maharashtra -I(Di Uttar Pradesh

7o,  TEH WE w0 ¥ fou feaer Iw@ aar € 2

yt{ et 90 (B) I FUUT
) fr=a D) i ® foeed &
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Which is used to et spectrum ?

(A}  Concave m;
mirror (B) Convex mirror

(C)  Prism (D)  Glass slab

S T TR Sl st s qa s 8, oW o wh b
A)  FEW

H o ok o ¥ de

C) WHTW

S N s s

A magnified imaginary image by a convex lens is fo;'med when the object is
placed |

(A)  atinfinity

(B) between focus and lens

(€ atfocus

(D). between focal distance and twice focal distance
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7oK - N / SECTION - B
sifirs ¥TER / Physios
bk AT ¥ / Short Answer Type Questions

mnﬁ:#amwmirnﬁ#&#4mﬁ$miwﬁ$m*ﬁ?
Qﬁmtl 4#2!8

Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each question

carries 2 marks. 4x2=8

1 ey RedeT = d ' | 2

What is nuclear fission ?

/mﬁm%ﬁéa’rmﬂﬁﬂﬁi : ' 2

Write any two uscs of a concave mirror,
3, foea fava @} ofomen € od g6 S1AB ford | ' 2

Define electric potential and write its SI unit.
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& xwmiuqﬂaﬂwﬁq% ? ®RO )

Is fossil fucl renewable ? Give reasons.
5.(/ M % Fraw =t fed

Write Ohm's law.
5/ q&ﬁq?ﬂ% ?wwlmﬂm%'?

What are defects of visior'’? What.are its types ?

7. mﬁwqﬁﬁewﬁaﬁmmm

!

State the difference between alternating current and direct current.

8. W%w@mﬁnﬁaﬁﬁr%?

Why does the sun appear red at the time of sunrise ?

(112

S-1 |- 17003-!56!7;]
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M G?ﬁﬂ U¥H [/ Long Anawer Type Quultionl

wyT wEar 9 aiv mz?#aﬂ##mffraﬁ#ﬁﬂ#wmmifmm*ﬁw

I1x6=6

6 3% e 41

-

. Each
Question Nos. 9 and 10 are Long Answer Type questions. Answer any one of them

question carries 6 marks. Ix6=6

1. 1 1

In a concave mirror prove that -—+—=?.
v u

10. _ﬁ@wﬂmmﬁlwmmmﬁmﬁtﬁwﬁaﬁ
T s e ?

Draw a labelled diagram of an electric motor. Explain its principle and wur}dng.

What is the significance of the dividing ring in an electric motor ?
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AU YIRA | Chemistry

g I wv / Short Answer Type Questions

W W 11 R 18 7% g 0T §1 e R} B 4wl & s §) odw & e

2 3% frwifeg 4x2=8

Question Nos. 11 to 18 are Short Answer Type. Answer any 4 questions. Each question

carries 2 marks. 4x2=8

11, T o & R @ ol a1 S )
Mention any two advantages of underground water.

12. R ST IR w1 S G o ek s € 2 :

Write the molecular formula of Plaster of Paris. What are its uses ?

/ﬁﬁfﬂﬂmﬂﬁ\ww%?ﬁﬁiﬁﬂwﬂwwﬁﬁﬁﬁwﬁﬁ: B

Al(s)+ Hgsoé.[aq] = Al,(S0, }Qfaqi i Hzlgl'

t :
What is a balanced chemical equation ? Write the balanced form of the following

equation :

Al(s)+HyS0, .\ — Aly(SO4 )30 +Hyg)

4(aq)

Page 43/48
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2 Foe 9 e o e T ), 39 R e T 9 S ¢ W
eeghor ke S W I o {1 g A a1 o &1 FH I
sfufirant et § 2 affraet & T v o o 2

14,

. ; ing is formed on
On prolonged heating of copper turnings in the air, a black coating 18

. ich reactions
it. On passing hydrogen gas over it, it regains its brown colour. Which :

take place here ? Write the names and equations of the reactions.

1/5/31?1@#%? - "

What is an ore ?

~

38 e e i o R e e v 2 2
Why curd and sour Substani:es should not be -képt in -brass and copper
~utensils ?
/‘. ' * - *
A7, g S o # R 9ER s ey 0 - . 2
How is iron protected from rusting ?
18.  WEHATH 4T I ) TWH QA W@ I L 2

What is a_covalent bond ? Give two examples of it,

—
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& 3wty we / Long Anawer Type Questions

W RS 1903 20 3 s #1 pk @ Pt ow a7 I &1 R g & g

5 3% Fuifa 4 1x5=5
Question Nos. 19 and 20 are Long Answer Type. Answer any one of them. Each question
carries 5 marks, Ix5=§
19. 7R 3w fea § pH & =1 O el 1 v S 5

Mention any five importances of pH in our daily life.
29/ RRSFET 1 ? T¢ fF TR $8d € 2 5
What are hydrocarbons ? 1IMuaLt are it types,?
S &= B_iology

oY TG IIFT / Short Answer Type Questions

mw‘wrz:#zsaas'agaaﬁzrfrM#W#W%m#:ﬁm%ﬁv

23% fraifea &1 4x2=8
Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions. Each question
carries 2 marks. 4x2=8
20, T 1 fr afteeT g ? 2

—_ What is double circulation of blood ?
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.
29, @gﬁtagwé?waﬁﬁwavhﬁl
Describe the accessory organs of a typical flower.
2
3 FIEEw A RIE ?
What is vegetative reproduction ?
g : ) 2
/u./ gt o R # SR SArRg |
Differentiate between artery and '.vein.
28 P R YR 1 ST & 2 T8 FEI T E 2 :2
What type of respiration is-férmentation ? Where does it take pldce ?
26. T F SO 1 AR AT E 2 2
How is food translocated in plants ?
27. T % St o R (Platelets) i F4T S § ? 2
What is the role of blood platelets in clotting of blood ?
o, mifw Wt ot fafl w-r e 2 | _ g
What are the different methods of contraception ?
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e sl W¥T / Long Answer Type Questions

W W 29 UG 30 A s §1 3 @ Fedl U @7 I 31 0w 9T & fv

5 3% fuifa 1 1x5=5
Question Nos. 29 and 30 are Long Answer Type. Answer any one of them. Eachqugﬁoﬁ
carries 5 marks. 1x5=5
20, =R T d 7 W anvat o R =R 1 AiE BT 5
What in neuron ? Draw a well-labelled diagram of a neuron.
iﬂ/ﬂﬁﬂmﬂﬁ?gﬁﬁmmmﬁl 5

What is a food chain ? Explain it with an example.

fazre a1 A gdfda @aft srarard,
3%'&3?1?{ ;rnama ,Eafﬁa

mmmmﬁm
Uzes Uil & fAe...
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